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manyD 000 000000000000 00000000000O00000OO
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10 one thousand [0 ]O0 O ;
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20 failed to fetch O O O O

30 award something tosomeone 0 O O O OO OO
40 awakento O O ;0 O ;
S0awaketo 00O O[O ]O0;0DD00D0DO00O;
6Uattuneto 0000000000 On

70 attributedto D O OO O O

80 attribute to
OdoodoDOod[oolboooooooooOo,bogo@ooooomy;

900 attributableto [O Jadj.0 0D OO0 Q0 OO OO;
100 attitude to 0 O

110 attestto OO O ;00 O O ;

120 attendto 0 O ;0 0:;00:00 O;

130 attempttodo O O O I ;
40attemptto U U0 O O;00000O;
150attainto 0 00O OO,

160 attachment to someone 0 O O O 0O O

170 attachedto O OO OO OO ;

180 attachto 0 OO O [0 OO0 O0OO;000O0DO;00000;00000;
190 attach oneselfto O O 0O O O ;

200 attach importance to 0 0 ;
one-to-manyl] U OO 0O O

10 Connecter that splits into three branches, showing a one to-many relationship.
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Ooooobooooo,ooooooo.
20 This paper proposed a one-to-many negotiation model with two-phase type.
OoooobooOoooooooo.

30 Explains how to programmatically return related records in a typed dataset with
tables in one-to-many relationship.

gobooobodgoboobbooboobboobboouoboobooogn.

41 The documents include, HIBERNATE configuration, the one-to-many. many-to-
many . another is usually more of its own operations.

g, oo, bbbbb.0bibobd, HIBERNATED
go,0bod,ggb.boogbooboogan.

50 This formula is useful to me, | to be also one to many persons useful.
I A 6

601 The Observer Pattern defines a one to-many relationship between objects.
gogotdoouooooodoo* oog” oo,

70 Multicast : Packets are delivered to all identified the address. This is also called a one-
to-many address.

gobdogb:bogoboogood d
oo, oo boboo, b, booboood.

801 A one to many relationship is necessary in order to create a sublist.
Oooooooooooooao.

90 To create a sublist, the recordsets must have a one-to-many relationship.
ooodoooo,0co00o0ooooooog.
O000000000OOone-to-manyd 000 000O0O0ODODODOOOODODODOOO

00000000 one-to-manyl U U U one-to-manyl U UJ [J one-to-
manyd O O 0O 0O O O O O https://dict.tjgzz.com/one-to-many
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